                  Case 3:

totsubs = {e1 -> 1/6277, e3 -> 1/216, 

       b1 -> 1/3, b2 -> 5/11, b3 -> 3/5}

sx = {0.432741371214613335476238648836203`20, 

     0.432736446017547789566775153071029`20, 

     0.448243451742605418601599532791267`20, 

     0.44824098057847843866062441854525`20, 

     0.119008427696889402521026093966642`20, 

     0.119007419846927669033216991490659`20, 

     2167.4794365988075388933530908816`20, 

     2165.1748058124042760059764863235`20, 

     3302.4971739343375818023567458945`20, 

     3300.7348656012511820560325232082`20, 

     12998.7203735390182610390443178679`20, 

     12995.8909174067480673389179054936`20}

pp = {0.432731729824114880311867799299822`20, 

     0.448233549334670829751655363012704`20, 

     0.119008304902781656769637703466959`20}

shapval = {0.397979797979798, 0.3373737373737374,

               0.26464646464646463}

shapvalexact = {197/495, 167/495, 131/495}

ptot = 0.999973584061567366833160865779485`20

   Probabilities that various 2-coalitions form by elections of agencies:

 23coal = co1 = 0.44127826197960357

 13coal = co2 = 0.41060630578890184

 12coal = co3 = 0.14811543223149462

